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FIG. 1. One oscillation period of a water drop with 5.76-mm equivalent diameter floating freely in the Mainz vertical wind
tunnel. The measurement was carried out at a recording speed of 1000 frames per second.
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FiG. 6. The PPI radar scan showing radar reflectivity contours at 0° elevation angle on 22 May 1976: (a) 1945 CST, (b) 2045 CST, (c)
2145 CST and (d) 2245 CST. The contours are drawn at 7, 24, 34, 44 and 54 dBZ. The shaded areas indicate radar reflectivity higher than
24 :B“Z 1Igul:nbers next to the station locations indicate rainfall rate [inches (30 min)~!]. Surface winds are also shown with full

arb for t.
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Fi1G. 7. Temporal variations of surface wind, pressure (inches
Hg), temperature (°F) and rainfall rate [inches (30 min)~'] meas-
ured at CSM, HNT and CHO. Full barb for wind is 10 kt.
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F1G. 17. As in Fig. 13 except for stream lines determined
from « and w. temperature. (K).

0 4.13 Ogura and Liu (1980) OO

FIG. 19. As in Fig. 13 except for equnvalent potential
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Figure 6.5 Basic coordinates of

the skew-T diagram.

Figure 6.6 Skew-T diagram of
Fig. 6.5 with dry adiabats
(dashed) added. The line seg-
ment AB shows the temperature
structure for a hypothetical
sounding between about 500
and 900 mb. Dry adiabatic as-
cent from 725 mb is illustrated
by the line segment CD.
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0 4.14 Bohren and Albrecht, “Atmospheric Thermodynamics” (1998) O O
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